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30197622|Gmnp U 4 pmpul |UU nnt EAeg: ke 24
30192743 @mnp U4 hwun ¥ nntth 2300 20 46,0
30192743 f}hqbump Ut huwn 800 1 0,8
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30197232|qphs gqliny Ut huwwn 760 2 1,5
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30197320»wniphju qpswinfwl  |UW hun 255 16 4,1
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30194700| PP R &
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30197230[Opwip U-5 o hwwn 40 50 2,0
3016003 Il .. 7
wnpuwdui hwwn 1610 3 4,8
30194700|4phs 164 ~JLL huwn 4200 3 12,6
30192300 pqpmthuﬂl 4
duwjipny 603. hwuwn 680 7] . 4,8
30192710 plllamululhulq -
$buyyipny 40%. hwwn 540 10 54
30192700|6pwin Uhohli swithh (VY hun 20 200 4,0
30197232|Skunp 48p. S huin 160 20 3.2
30192133|Slinp 96p. — huwn 320 10 32
30192125|pninpe U-3 Ut hwwn 5100 il 551
30199400 Ywiphs e hun 2200 2 4,4
30192743|ljuphsh wutn uu huitn 150 10 1,5
30192700|pliyp L hunn 110 40 4,4
30192700|bowlipwily i huwn 260 4 1,0
30199420|[Ttwnhl — hun 80 4 0,3
30192133|4uhph pupdhy L hun 650 10 6,5
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Zhdbwjul vhong
39138110 Upnn 4 hunnuting Uu huwn 88250 4 353.0
hudwljuipgsh UU
30237460 unbinbiwowp hwwn 4500 2 9.0
30211260 inplpnip UUu hwuwn 1} 240000 240
39711210]|qpuuktjmluypl UU
wnpudwb huwn 1600 3 5
30237412 hwdwljuipgsh dyuply  |Uw hwn 3500 2 7.0
39711120 Uwntwpul UG hwn 67000 1 67.0
35821200 Qunju ghpp Ul huwn 30000 i 30.0
39111168 uljutihh wwywpun Uu hwwn 50000 1 50,0
39515400 pipunuyjuipuigni)n Ul hwwn 6000 6 36,0
wopnwnuwiipuyhly Uu
39111160fukinub hwuwn 105000 1 105,0
30211280 hudwljupghy U huwn 265000 1 265,0
45600000 1Juguipub Uu hwwn 25000 1 250
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39711210f6npuly Uu huwn 6000 5 30,0
39711210}E;. Jwpnuljubp UuU hwwn 500 30 15,0
39711210fk]. wguwnhsubp U hwuwn 700 8 5,6
39514500snpuihh djwinnndul [UG huwn 1500 5 7,5
39531800fuUntwnph qnpghly U huwn 3800 3 15,2
39831270|Akntnglikp Uu qniq 308 26 8,0
39831246(L. jmdykp [Biju hwwn 100 50 5,0
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79515450 huwwn 5000 24 120,0
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90500000{ Rdoljuljub purthntiibp |US hwuwn 104000 I
104,0
gubguyhtdwnipuhutgy U
wigniu, Unlinnud,
gubiguyhtuwppuynpnud
79515400 |utphwknunpnud huwn 350000 1 350,0
pugudbup 25791,0

s 14 17.2978p




	File
	File0001
	File0002
	File0003
	File0004
	File0005
	File0006
	File0007
	File0008
	File0009
	File0010

